
Adding	
  and	
  Subtracting	
  2	
  
	
  
1   What is the missing digit in each of these computations 
 
    a)      37 
           +42 
             7£ 

    b)      47 
           +34 
             8£ 

    c)    143 
         +  84 
          2£7 

 
2   What is the missing digit in each of these computations 
 
    a)       87 
           – 42 
             4£ 

    b)      57 
           – 38 
             £9 

    c)    173 
         – £2 
              91 

 
3   Give answers to these additions 
 
    a)       56 
           + 31 
              

    b)       64 
           + 25 
              

    c)      19 
          + 34 
               

 
4   Show your working to find the result for each of these sums 
 
    a)    65 + 78 
 

    b)   151 + 85     c)   1531 + 386 

5   Give the result of each of these sums  
 
    a)       27 
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  36 
           + 54 
              

    b)      164 
               37 
           +  25 
              

    c)      159 
             245 
          +  34 
               

6   Find the answers to these subtractions 
 
    a)       56 
           – 31 
              

    b)       64 
           – 25 
              

    c)      34 
          – 19 
               

7   Show your working to find the result for each of these differences 
 
    a)    42 – 17 
 

    b)   151 – 85     c)   1731 – 386 

8	
  	
  	
  	
  A	
  cars	
  odometer	
  shows	
  11	
  238	
  kilometres	
  at	
  the	
  start	
  of	
  a	
  journey	
  and	
  	
  
	
  	
  	
  	
  	
  	
  12	
  427	
  kilometres	
  at	
  the	
  end	
  of	
  the	
  journey.	
  What	
  was	
  the	
  journey’s	
  
	
  	
  	
  	
  	
  	
  distance?	
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  Two	
  different	
  schools	
  have	
  823	
  and	
  980	
  students	
  enrolled	
  
	
  	
  	
  	
  	
  	
  	
  a)	
  	
  	
  What	
  is	
  the	
  total	
  number	
  of	
  students	
  in	
  the	
  two	
  schools?	
  
	
  	
  	
  	
  	
  	
  	
  b)	
  	
  	
  What	
  is	
  the	
  difference	
  between	
  the	
  number	
  of	
  students	
  in	
  the	
  schools?	
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